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such mistakes are often the result of errors in
judgement. This connection between calcula-
tion and the assessment of its consequences
connects the previous topic with the next one.

When to Stop Calculating

At an early stage in the discussion of calculat-
ing variations, we posed the question of when
and how one should begin calculation. Now the
time has come to consider when, and on the ba-
sis of which factors, one should stop calculat-
ing.

If we calculate more than necessary, we waste
time and energy, while if we stop calculating
too soon, the consequences can be even worse,
for we can miss favourable opportunities for
ourselves, or walk into a nasty surprise from the
opponent. The following game is an example:

Parma – Geller
Capablanca memorial, Havana 1965

1 e4 e5 2 Ìf3 Ìc6 3 Íb5 a6 4 Ía4 Ìf6 5 0-0
Íe7 6 Îe1 b5 7 Íb3 0-0 8 c3 d6 9 h3 h6 10 d4
Îe8 11 Ìbd2 Íf8 12 Ìf1 Íd7 13 Ìg3 Ìa5
14 Íc2 Ìc4 15 a4 c5 (D)

This is the Smyslov Variation of the Closed
Lopez. Geller also played this line with the
bishop on b7. The present position arose for the
first time in this game. Geller was familiar with
it from his home preparation, whereas Parma
was forced to wrestle with unfamiliar problems

at the board. One can therefore understand the
reasons for his following, rather optimistic, re-
action.

16 axb5?!
In a later game, White played 16 b3 Ìa5! 17

axb5 axb5 18 d5 Ëc7 19 Íe3 g6 20 Ìd2 Íg7
21 Îa2 Îec8! 22 Ëa1 Ëd8! 23 Îc1 Ìb7, reach-
ing a very complicated position with approxi-
mately equal chances, Jansa-Geller, Lugano
OL 1968.

16...axb5 17 Îxa8 Ëxa8 18 dxc5 dxc5 (D)
Here White could not restrain himself from

continuing with his original idea, and he played:

19 Ìh5?
It was still not too late to revert to the typical

Spanish idea 19 Ìh4!? Îd8 20 Ëf3, although
in this case, Black already has certain addi-
tional pluses compared with usual situations,
and his position is slightly preferable.

19...Ìxh5 20 Ëxd7 (D)
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This is the position White was aiming for
when he played his 16th move. It is not imme-
diately obvious what is wrong with it: he has
the advantage of the two bishops and the b5-
pawn hangs. This may not be a lot, but it is
something. However...

20...Ìd6!
Suddenly it transpires that White did not

look sufficiently deeply into the position, and
just one move beyond his ‘horizon’, he already
has to amend his assessment significantly. His
queen is in trouble (a characteristic variation is
21 Îd1? Ìf6 22 Ëc7 Îc8 23 Ëb6 Ìd7), and
has few squares.

21 Ëg4 Ìf6 22 Ëh4 (D)

22...Îe6!
This excellent manoeuvre dashes all White’s

hopes of counterplay and his queen now proves
to be out of play. Geller gives an interesting and
very characteristic comment: “A very strong
move in such positions, of a type which Spas-
sky has often made.” Geller had an enormous
knowledge of chess!

23 Ìd2 c4 24 Ìf1?
White loses a tempo, which turns a difficult

position into a practically lost one. He should
immediately improve the position of his queen
by 24 Ëg3!?. Now Black breaks through pow-
erfully on the queenside and White has no de-
fence.

24...b4! 25 cxb4 Ìb5 26 Íd2 Ëa2 27 Ëg3
Black also has a great advantage after 27

Ìe3 Ëxb2.
27...Ëxb2 28 Ía4 Ìd4!?

28...Íxb4 29 Íxb5 Íxd2 is equally strong.
29 Ëc3 (D)

29...Ëa2!
This is the point of Black’s 28th move. White

is lost.
30 Ëa1
It is important that he cannot play 30 Îa1?

Ìe2+ 31 Êh1 Ìxc3.
30...Ëxa1 31 Îxa1 Îa6 32 b5
A pawn sacrifice born of desperation. He

loses immediately after 32 Ìg3 Ìb3 or 32 f3
c3.

32...Ìxb5 33 Ìg3 c3 34 Íc1 (D)

34...c2!?
Also good was 34...Ìd4!? 35 Îa2 Ìd7 36

Íb3 Ìxb3 37 Îxa6 Ìxc1.
35 Íb2 Ìd4 36 Íxc2
After 36 Êf1, Black wins with 36...Ìb3!,

and on 36 Îa2 by 36...Ìd7! 37 Íb3 Îb6.
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36...Îxa1+ 37 Íxa1 Ìxc2 38 Íxe5 Ìd7
0-1

The finish of the next game only takes four
moves, but this small piece of calculation con-
tains great richness.

Black’s positional superiority is the first thing
which strikes one. His dark-squared bishop is
magnificent, and his pressure on the c-file looks
almost decisive. What can White do? His only
chances lie on the kingside, but how serious are
they? What weaknesses in the black position
are there on which White can build his hopes?
Frankly, speaking, not many, but trying to hold
Black’s pressure on the other flank by 20 Îg3
Êh8 21 Îff3 offers very few prospects, after,
for example, 21...d5. But Tal would not have
been Tal without digging up striking resources
even in such a terrible position:

20 f6!
Absolutely essential, if White is planning to

put all his hopes on a kingside attack. He must
open lines for his queen and rook.

20...Íxf6 21 f5! (D)
Without this follow-up, the previous move

makes no sense.
Now that the white pieces have come some-

what to life, and there is a chance of them com-
bining together on the kingside, Black needs to
do some more work calculating variations. I
would emphasize that despite the heroics of the

white pawns, the position has only become
sharper, and its fundamental assessment has not
changed. Black had, and still has, the advantage.
All that has changed is the difficulty he faces in
realizing that advantage. White has done his best
to complicate his opponent’s task, but with cor-
rect play, Black should nonetheless convert his
superiority. 21...Íxc3? is now a serious mis-
take, since after 22 Ëg5+ Êh8 23 Íg6! fxg6 24
Ëxg6 White wins. 21...Ëd4!? looks very good,
transferring the queen to the most important di-
agonal on the board. After 22 Îd3 Ëe5 23 Îxd6
Íc6 24 Îd3 Îcd8 Black has repulsed all of his
opponent’s attempts at active play, and retains
the advantage. But why settle for just an advan-
tage? Why not take a piece, especially as there
seems no reason not to? There followed:

21...Îxc3? 22 Îg3+ (D)

Now after 22...Íg7 23 Îxg7+ (worse is 23
f6 because of the stunning reply 23...Îf3!! with
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